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Choose the word that has the underlined (letters) pronounced differ​ently from the others.(1 mark) 
1.  A. answer
B. swing 
C. swallow
D. swear

2.  A. slim
B. slide
C. island
D. slip

3.  A. whistle
B. style
C. understand
D. sting

4.  A. praised
B. caused
C. raised 
D. released 
Choose the best answer. (3.25 marks) 
1. The energy ___________by the windmill drives all drainage pumps. 

A. that is producing
B which produces
C. producing
D. produced
2. I pull off the sheets___________the furniture.


A. to cover
B. covered
C. that covering
D. covering
3. The……………..is the air, water land in or on which people animals and plants live.


A. resource
B. planet
C. environment
D. consequense

4. The man ___________to John is my brother.


A. listening
B. listened
C. listens
D. is listening

5. The student ___________had an impressive record.


A. was awarded
B. was awarding
C. awarding
D. awarded
6. The car ___________by Japan is better than that___________by China.


A. produced/ producedB. producing/ produced
C. producing/ producing D. produced/producing

7. My teacher is the first person___________me congratulations.


A. gives
B. giving
C. given
D. to give
8. The design ___________by Mr. David is awarded by National Architecture Association


A. designed
B. designing
C. is designed
D. to design

9. Fax ___________ has now become a cheap and convenient way to transmit text over distances. 

A. transmit
B. transmitting
C. transmission
D. transmittable 

10. ___________to the magazine can take advantage of this special offer. 


A. Subscibe
B. Subscription
C. Subscribing
D. Subscribers 

11. The health of our children are being ___________by exhaust fumes.


A. endanger
B. endangered
C. dangerous
D. danger 
12. The panda’s ___________habitat is the bamboo forest. 

A. nature
B. natural
C. naturalize
D. naturally 

13. Coal, gas and oil are ___________forms of energy that can not be replaced after used.


A. renew
B. renewable
C. non-renewable
D. renewal 

Read the passage below and decide which answer (A, B, C or D) best fits each space. (1 mark) 
We need energy to live and work. Our (1)             source of energy is oil. Oil is one kind of fossil fuel. The amount of fossil fuels in the world is limited. (2)             , we must save it, and at that time, we must find new sources of energy. Geothermal heat and nuclear power are alternative sources of energy. They can give us (3)                  . Other alternative sources are the sun, wind and water. These sources are not only unlimited and available but also clean and safe (4)            the environment. People should develop and use them more and more in the future.

1.  A. unpolluted
B. convenient
C. unlimited
D. major 

2.  A. Therefore
B. But
C. Moreover
D. However

3.  A. gas
B. electricity
C. petrol
D. coal

4.  A. for
B. to
C. about
D. from

Read and then choose the best answer.(1 mark) 
The last two decades have seen enormous changes in the way people's lives are affected by IT. Twenty years ago, few people had access to a computer while today most people use them at work, home or school and use of e-mail and the Internet is an every day event.
These developments have brought many benefits to our lives. E-mail makes communication much easier and more immediate. This has numerous benefits for business, commerce, and education. The World Wide Web means that information on every conceivable subject is now available to us. Clearly, for many people this has made life much easier and more convenient.
However, not all the effects of the new technology have been beneficial. Many people feel that the widespread use of e-mail is destroying traditional forms of communication such as letter writing, telephone and face-to-face conversation. In addition, the huge size of the Web means it is almost impossible to control and regulate. This has led to many concerns regarding children accessing unsuitable websites. In conclusion, developments in IT have brought many benefits, yet I believe developments relating to new technology in the future are likely to produce many negative effects that will need to be addressed very carefully.
1. According to the passage, E-mail ___________


A. reduces face-to-face contact
B. is used only in business


C. can be checked quickly and easily
D. takes a lot of time to transmit 
2. The World Wide Web and e-mail communication ___________

 
A. is destroying traditional customs
B. have also been used for education purpose
 
C. is difficult to get access to
D. causes a busy and exciting life

3. What does the IT stand for? It stands for ____________


A. Information Technology 
B. Information Transmission

 
C. Information Transfer

D. Information Theory

 4. The writer thinks future IT developments will be ___________

 
A. more rapid
B. more negative
C. more positive
D. unexpected

Complete the sentences with the correct tenses or form of the verbs given in the brackets.

1. The taxi (take) …taking .. us to the airport broke down.

2. Nowadays, scientists (try) …are trying .. to find ways to make full use of wind and solar energy.

3. The police never found the money (steal) …stolen.. in the robbery.

4. She was the last person (come) …to come.. to the party last night.

5. The people whom we (visit) …visited.. yesterday are very nice.

Finish each of the following sentences, beginning with the given words or as directed so that it means the same as the sentence printed before it.

1. The Eiffel Tower is made of iron. It was finished in 1889. (use non-defining relative clause)

The Eiffel Tower, which was finished in 1889, is made of iron.
The Eiffel Tower, which is made of iron, was finished in 1889.
2. The bus is always crowded. I take it to school every morning.  (use defining relative clause)

The bus  which / that I take to school every morning is always crowded.
3. This is the shop. I bought my shirt there. ( use relative clause)

This is the shop where I bought my shirt
4. The woman is very lovely. We are talking about her. ( use relative clause with preposition)

The woman about whom we are talking is very lovely.
5. A number of suggestions were made at the meeting. Most of them were not very practical (use relative clause replaced by past participle)

Most of the suggestions  made at the meeting were not very practical.
